




















unudi b.  Iw (5)

Y (x,  0 = “F,  --$ [ 1 + (-1)” - 2~0s  y ]sin y  sin?

= +-[O+  $sin  $ sin++O+O+O

4
+ Sl”

6 x 6at
7 - Sl”- +

]

sin (2n - 1)x sin (2n - I)at

5. Y(O, 0 = y(10, 1) = y(1.0) = 0

tdo  y,(x,O)  = L sin  nX
5 10

n% X”(x)_ _  =1 T”(t) ‘lo”  = -Az
X(x) 2 T(t)

X(x) = c,  cos Ax + c2  sin Ax

T ( t )  = cjcosalt  +  casinak

lmnilu y(0, t)  = 0 xx X(0) = 0

unufii x = 0 114  (I)

X(0) = c,+o=o

n% c,  = 0

........ ..(I)

.......... (2

M?L  446 (H) 221



















*

-0.4(  - 1)”= + 0.4(  - 1)”
nn “I7

$$-I,”  - 1)

= g [I -(-I)“]

II:0  b.  = $& [I -(-l)“]

m
Y(%  1) = “f, $ [I -(-l)“]sinysin  y

1 . 6 2 RX 3Rl

3n4 F Sl” z Sill 2 + 0 + z 34 sin 3nx 2 sin 9nt 2

+ o + 2 \i”  57-r\  157rl
54 2  s”’  __ +  ‘.’2 1

= -J-$ E, [ (2,, : ,), lain  (2n i I)”  sin 3(2n 2 lM

a5yq= a2 azy
ax*

X(x)  T”(t) = a*  X”(x) T(t)

230 M?A  4 4 6  00


























